This document contains proprietary information and such information shall not be disclosed to any third party for any purpose whatsoever or used for manufacturing purposes without prior written agreement from RADIALL

This information is given as an indication.In the continual goal to improve our products,we reserve the right to make any modifications judged necessary.

4112_9311

Radiall ‘:’ TECHNICAL DATA SHEET 620900109

Series ADAPTER PLATES AND EMI BACKSHELL FOR ARINC 600 SIZE 3 CONNECTORS Issue: Page
NSX Mar. 02, 2020 1 /‘I

4-40 UNC screws

Torque = 0.70 Nm Washers
(17 places) (17 places)

4-40 UNC captive screws Insert rejentlon plates M2.5 screws

Torque = 0.70 Nm Torque = 0.28 Nm

q6 lace Hexagonal hole :
(6 places) 1.30 (.051) on flats
(24 places)
N

A}
Outputs ! — | g
] /J
D ! 3 Retention plates
0 g S
N 8

Inner diameter :

c==4

4-40 captive screws
with washers
Torque = 0.70 Nm

(24 places) — Backshell

Adapter plates

- approx. 9

- approx. 40 —

MATERIAL :
- BACKSHELL : ALUMINUM ALLOY PER SAE AMS-QQ-A-250
- OUTPUTS : ALUMINUM ALLOY PER SAE AMS-QQ-A-250
- BACKSHELL ADAPTERS : ALUMINUM ALLOY PER SAE AMS-QQ-A-250
- INSERT RETENTION PLATES : ALUMINUM ALLOY PER SAE AMS-QQ-A-250
- SCREWS AND WASHERS : CORROSION RESISTANT MATERIAL

FINISH :
- BACKSHELL : ELECTROLESS NICKEL PER SAE AMS-2404
- OUTPUTS : ELECTROLESS NICKEL PER SAE AMS-2404
- BACKSHELL ADAPTERS : ELECTROLESS NICKEL PER SAE AMS-2404
- INSERT RETENTION PLATES : ELECTROLESS NICKEL PER SAE AMS-2404

NOTES :
- MARKING : BACKSHELL MUST BE MARKED WITH : RADIALL + 620900109 + DATE CODE
PACKAGING MUST BE MARKED WITH : 620900109 + DATE CODE

- MOUNTING INSTRUCTION : MIBS2000000

DIMENSIONS : mm (inch are given for information only) @—E— Estimated weight : 376 g

CREATION

PEN: 20000284-10A

NOM: Ramos D.
DATE: Mar. 02, 2020

APPR.: legendreT. Issue Revisions Name Approved

620900109EN RADIALL PROPRIETARY INFORMATION




	Feuille1
	Vue de mise en plan2


